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EXr—o35X ZRILAOSR
Pos | I>bF5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos|I>bM5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |[E 3LER 12 20 10 20 62 1 | tH =1 20 12 20 10 62
2 [ERAK R 15 8 20 15 58 2 |miya 12 10 15 37
3 | = #E—8p 15 12 27 3 |E% RE 15 12 27
4 |INK 20 20 4 |Ao/veEF+ 15 8 23
5 |EH 248 15 15 5 |9T=A 20 20
6 |B#E & 8 6 14 6 |XE HhE 20 20
7 | FE 12 12 7 |&EFEN 12 6 18
8 | ~<A 12 12 8 |Ho 10 6 16
9 |DILT+1—GTI 10 10 9 |B#EBA 6 10 16
10 |LIFTED 10 10 10 |7z<HA 15 15
11 (hod— 10 10 11 |58 Kiat 8 8
12 |4 £ 8 8 12 |FEH E— 8 8
13 |iBK =8 8 8 13 |kei 8 8
14 12~ 6 6 14 |#k =m— 6 6
15 |9 L5 6 6 =R BUSXR
16 |EERY B2 6 6 Pos| T>M5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
17 0 1 |ER{LCS 20 20 8 20 68
Fv L>ZH~CARTIS X 2 |/h\fa IEX 15 15 10 12 52
Pos| T>M5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 3 |[&EDwn 8 8 12 8 36
1 [&BFA 20 20 20 60 4 BT W 20 15 35
2 [DR> 12 12 10 20 54 5 (P4 BR 12 10 22
3 |EE 10 8 12 15 45 6 |lTFED 15 15
4 |TEh 8 10 15 10 43 7 [BH BiE 6 6 12
5 |5 15 15 12 42 8 |fEl f@— 12 12
6 [WE&S=A 6 6 8 8 28 9 |k 10 10
7 |bWE5—D 6 6 10 [#BA Efat 10 10
8 0 11 |IRK 188 6
FrL>2ZOSR 12 |H#EX B— 6
Pos|I>bF5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total THX/)=hk
1 |kFD 15 20 15 50 Pos| T>M5> 4| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
2 [TV 15 10 10 8 43 1 |6<H 20 20 12 52
3 |Z—EF— 10 8 12 12 42 2 |WE %R— 20 12 20 52
4 |BE EBR 20 20 40 3 |ULzao&k 15 15 15 45
5 [RctE 12 20 32 4 |PFRVE 12 8 8 8 36
6 |Ek —&= 15 10 25 5 |T3EERA 12 10 22
7 |taka 12 6 18 6 |=fE @4 10 6 16
8 |17+ 8 6 14 7 |EHE =R 15 15
9 [<2D 8 8 8 |BiRE 10 10
10 |86Work 6 6 9 [UOTHEBYA 10 10
11 |&BFA 6 6 10 |yosi 8 8
K-CARZJSX 11 |RR Bt 6 6
Pos| I>bF5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 12 |[ANFF337 6 6
1 |2vD 15 6 20 20 61 13 0
2 |K 8 12 8 10 38 14 0
3 |IE~7> 10 20 6 36 15 0
4 |(FPPE 20 15 35
5 |1—>2 6 8 12 8 34
6 |fz\WE 15 12 27
7 laqu 12 15 27
8 |[HAZD 10 10
9 [=E5_=35 10 10
10 [hERE H— 6 6




